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Section : General Intelligence and Reasoning

Q.1 uw [f3a g utar , 'LAPTOP' %1 'JYNRMN' fra wirar g 3R 'coLD &1 'AMJB" feran
WA 8, I YO B 'SKETCHPEN' %1 9 forar wirgem?

Ans X 1. RJDSBHODM
/< 2. QICRBHODM
«” 3. QICRAFNCL
/< 4. RIDSAFNCL

Question ID : 26433067768
Status : Answered
Chosen Option : 3

Q.2 gmaﬁﬁammsﬁaﬁamﬁwmﬁw,mﬁﬁaﬁ?mm

g SIeTm?
x TqYUT +, 6 TUT 4

Ans X 1.3x9-4+2+6=8
@ 2.7x6-4+9+3=-7
K 3.8-3x6+4+1=18
K 4.8x6+4+2-5=-5

Question ID : 264330105138
Status : Answered
Chosen Option : 2

Q.3 -3 fou T vy & $© YA R I 91 39 YA W 1uTRa $© e fou e §) faw
T FHYI B FE A, YA S ST ITATIG: Fia a2 § firerar g1 39f freed v ik f
fruifea o3 & F19 § e, 1T 7T Fy=1 &1 aifdhe 0 F g Ha g1

DY
|.mhiﬁ|?r,m%§|
Il. $O $oH, IS &1
Frod:
1. g3ft 7o, TR B
Il. $° Had, URya gt g1
IIl. F© TS, aH T 81
Ans X 1. Tt s SRV AR &
o 2. D15 1t e 3geRur 78t e §
2< 3. 1T 111 Y Iy SFeRUT v §
X 4. Had B || 3RO FHRaT §

Question ID : 264330104933
Status : Answered
Chosen Option : 2




Q4 R I wY= F a1g A e 1, 1 e 11 f T §1 FU @ I 9 g, ud
W;m%%ﬁﬁmmﬁ%ﬁ,mﬁ%ﬁﬁﬁw&mﬁmmﬁﬁuﬁm
STEIUT [

DY

s ot o e T8 '

mﬂmaﬁ%‘l "
asfeal o= gl

ot

. O I e T8 §1
II. $© asfHai s T8 &1
. 313 oft et Riarp T 21

Ans 1. Had B | 3R 11 SFERT XA &
% 2. Bacl By | 3R 11l 3R A &
X 3. Had B 11 3R 111 SRR AR §
% 4. 9t Frepdf SR R §

Question ID : 26433068829
Status : Answered
Chosen Option : 1

Q5 39 BT T I ord T=Ie oy # S yeR wafta & forg v frafiafaa
| 5t IEITE e | el g1
(Fite: TEmsil Bt ITF gew il | fyutima fary famm, gof wemsit w nfordg wfsang #t
ST AR SaTex0r & fg 13 - Kt Wiharg S f SiieIaer1ATon ST 31 13
W a1 ST FHar 81 13 B 1 3R 3 H furra & iR e 1 iR 3 R niforcdta Sifspamg
H B Al T R1)

(26, 120, 34)
(14, 110, 41)

Ans X 1.(44, 114, 24)
X 2.(72, 240, 16)
X 3.(15, 450, 8)
« 4. (36,106, 17)

Question ID : 26433068385
Status : Answered
Chosen Option : 4

Q.6 T Y A<l F) SIS ATHIN F AR TR HIA & YT, B T g ‘U’ I
TR S{TEI?
1. Version
2. Versus
3. Versicolour
4. Verse
5. Verso

Ans X 1. Version
< 2. Verso
< 3. Verse

o 4. Versus

Question ID : 264330104900
Status : Answered
Chosen Option : 4




Q7 =7 faFeT Hpia 1 79 Fiew, S B Ipfa-Eer & wa-Fed (7) F =E W
3 T v de @ qu weEh

B L B T B T @V & =|¥V € = 8

ADOz #MvAa g zlad z ogloas 2z

-J

8 = £ ¥|ve = BB L 0 T|TO L B

Ans OT B L

vilAa O oz A

x3|¥v € = 8
Ooa Mz
cC v B L

Question ID : 26433085802
Status : Answered
Chosen Option : 1

Q.8 fUfEd IR SreR-Taw § | T fordt Ffda adid ¥ J0H € o 39 UPR U Tg
T 1 B T SHER-UA 39 0Yg & Aafia 7Y 82
Ans X 1.JEQJ
< 2. ANHS
X 3.PYWD

4. JPRT

Question ID : 26433081503
Status : Answered
Chosen Option : 4




Q.9 frmfafEa Joft & walg (7) % R W 19 W W= w2

26, 54, 110, 222, ?, 894
Ans X 1.442

o 2. 446
X 3.440
X 4. 444

Question ID : 26433067592
Status : Answered
Chosen Option : 2

Q.10 Select the word-pair that best represents a similar relationship to the one expressed in
the given pair of words.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Acquired : Obtained

Ans & 1. Miniature : Tiny
/< 2. Arrival : Departure
/< 3. Bitter : Sweet
/5 4. Collected : Distributed

Question ID : 26433068418
Status : Answered
Chosen Option : 1

Q.11 f3E 7T wHiewur #) Tafera B & forg b= < Temait ok freT <t frg &t e geern
?ﬂixs—asnwso
Ans X 1.36 3R 72, + 3R -
X 2.93MR 36, x 3R +
X 3.20 3R 80, x 3R +
o 4.83R9, +3R-

Question ID : 26433087056
Status : Answered
Chosen Option : 4




2w & ar Fr G sreEr-arenET Rt Ay @eE ad ¥
'3' gl I Folk F F9INT el 9T Hid O TEAT HwE?

VA

ICER] =2 ICEE]

Ans X 1.2
< 2.6
& 3.1
X 4.5

Question ID : 26433079373
Status : Answered
Chosen Option : 3

Q.13 T® Ay e YT &, 'INNER' ®1 'SNNWJ' & =0 ¥ forar oiaT & 3R "GLASS' &1 'UPAIl
& wu ¥ forar Sirar g1 I 49T § 'MODEL' %1 H T s

Ans X 1. OMWWP
& 2. OMXWP
X 3. OMXVP
X 4. OMXWO

Question ID : 26433067327
Status : Answered
Chosen Option : 2

Q14 AxB BT IIR P A BRIHE T
A@B®HT A fF A BH T E
ABITIASEfH A BHTURE
A%BHTAHIRfH A BB UM
IEG%M#L@P &C @B §, @ L, B A frd UpR Hafta g2

Ans 1 T/
X 2. 981
X< 3.9g
X 4.9

Question ID : 26433065958
Status : Answered
Chosen Option : 1




Q15 g x-y@afgfrx, yHt o g, xxysafgfex, ysrfarg, x - yaraf g fs
X, Y B 984 2, af Frafifad § @ o9 °1 &oe g Frefia swar s, P q, P#T I 82

Ans  1.P-QxR
X 2P-Q+R
2 3.Q-PxR
X 4RxQ-P

Question ID : 264330104973

Status : Answered

Chosen Option : 1

Q.16 T REl & S W& HaIer o1 ag" B3 O e FUd + e F M RIWA W

e T Tfieor wgfera 81 srem |
23%2*2*5%18
Ans X 1.- % =+
X2 - 4+ =
X 3.- %+ =
& 4 - 5 %=

Chosen

Question ID : 26433068563

Status : Answered
Option : 4

Q.17 I Y HT TG S RrH FBg oy § I weR et § O vor e
Tl I WIS | T& i 2
(Fite: T3t B TP ged 3wl | fqurima fry famm, gof wemsit w nfvrdig w@itsang #t
ST TR | IeTeRvT & T 13 - Kty Aferant S % SisAIae AN ST 3dife 13
T fpar oI Jpar 21 13 B 1 3R 3 W fauriora &1 3R fihe 1 3R 3 wR nfordiy Aftramg
FX B Al TE 71)

(8,12, 6)
(9, 18, 8)

Ans X 1.(7,24,4)
& 2. (12, 24, 8)
% 3.(4,12,6)
X 4.(9,10, 11)

Chosen

Question ID : 26433079119

Status : Answered
Option : 2

Q.18 Tw 3shH far Ta1 8, Foraw |t ug g 71 2w vt faweul & 9 95 Wt fawew gfg, st

ST B TR B
TQT, ZSB, FUJ, LWR, ?

Ans X 1.RNZ
X 2.RYA
¢ 3.RYZ
X 4.RMZ

Que:

stion ID : 264330104803
Status : Answered

Chosen Option : 3




Q.19 TEmait & fIus T &1 7999 HY | (W 3 G $i ITH Jued il # fyurim feg
T, qof wemsit w wfpant fArnfed &Y o Tnfde | Serevur *13" - 13 W Hihart o9
% 13 ® SisA/aeHIATU ST 31fe far S wdHar 31 13 &1 18R 3 § dis &R ok
57 1 3R 3 wR KfrT wfpaTd St ot srgafa w1E B)

Ans X 1.17-279
& 2.5-31
2 3.13-159
X 4.9-71

Question ID : 264330105087
Status : Answered
Chosen Option : 2

020 3 e 1 9o I, Forerdl € 8 onpf ofafifea B1 (gm 1 ol T R)

A

X< 1.

Ans

X< 4.

Question ID : 26433068300
Status : Answered
Chosen Option : 3




Q.21 fFafifad SeR-THg JEar & R $A & 1T yearas g (7) F R W 31 31
EE',I?KJ, LNM, ?
Ans X 1.0PQ
& 2.0QP
X 3.QoP
X 4.PRQ

Question ID : 26433066002
Status : Answered
Chosen Option : 2

Q.22 I Iy BT I &Y ol A T1T | S yHR Haiid 8 O TR gl Sen ugelt
e | "6t ? ok o8 e uikdt H=n @ Safta g1
30:48::60:7?::45:72
Ans X 1.88
% 2.90
o 3.96

K 4.92

Question ID : 26433067899
Status : Answered
Chosen Option : 3




Q.23

Ans

R av Reedt # & 37 3 #7799 F S A mpfo-goer #

weaAfEd (?) ¥ TUW 9T 3T TFAT 87

S|

D

< 1.

Question ID : 26433057791
Status : Answered
Chosen Option : 4




O 5o Rl & wE &Y, S A & o iy F aele §
(e B g B Al T 2)

Ans

Question ID : 26433068851

Status : Answered

Chosen Option : 3

Q.25 I ATy F1 99 B Wil Uid AR-TYE | I TSR Ve 2 o UpR gaRT 3Her-
THE U JR-TYE A HefRra & 3N T 3iaR-uyg R SfaR-wwqe | Heftrd g1
EACH : AEHC :: GAME : AGEM :: IDOL : ?

Ans X 1.IDLO
& 2.DILO
/< 3.DIOL
X 4.0LDI

Question ID : 26433068507

Status : Answered

Chosen Option : 2

Section : General Awareness




Q1 YRd & 1 Ht dadla Giern g1 U A TH gersh, AR F awrl & o 4R o=
Iexal F Ty PV IS W Higa A2

Ans X 1. g1
X 2. dnf
X 3. e
o 4. Uit

Question ID : 26433064511

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 g F T F) 99¢ A & o diel & S A sAmaia Y # 9 gl S te wa A
e fear wirar 21 59 fafr &1 Sl STdl 21

Ans 1 Hed I
X 2. IgH oY
X 3.3 Aga
2 4. GHEREY ARBTY

Question ID : 264330105610
Status : Answered
Chosen Option : 1

Q.3 77 2022 ®, "l gRe ufkaierr Fafufa & @ foa Fda wh grr = st ag Qe
Ans 1. Horg Ofger ud a1a fasrg Tt

X 2. S BT 3R T T

X 3. HR Wy 3R uRaR FHeamr w5t

X 4. Do e w=A

Question ID : 264330105308
Status : Answered
Chosen Option : 1

Q.4 @i W frd af wifda fsar mar ur?
Ans X 1.1975%

X 2.1984
 3.1980 T
X 4.1978 H

Question ID : 26433082151
Status : Not Answered
Chosen Option : --

Q.5 Jar A 3R W HATE, HRd TPR gRT e $i3an gadie Frafafaa # @ f5a af g
foa wrar U1?

Ans X 1.2020
< 2. 2001
& 3.2019
X 4.2018

Question ID : 26433059382
Status : Answered
Chosen Option : 1




Q.6 fraa 9t Ten A awl #1 T WaeRe e g fpar ok fazaman i fh @ arr
Iafold TaRIX $t 3MgfRT IRATY] SoTAT & TSR URHATY] W&, Z A Hefed gt 82

Ans X 1. AR AR
o 2. TR A
X 3. fafiit Heddla
X 4. SgH SRR

Question ID : 26433064082
Status : Answered
Chosen Option : 2

Q.7 YRT WRBR 7 A 2022 § DACE FISHT IR= $t | I8 Ao FHufarad A S e wamea
¥ qga & o1 TS A2

Ans X 1. fRrem Hamem
X 2. FRURE S HAR
o 3. TS <1 3IR SRS e
2 4. T faerg Hare

Question ID : 264330105299
Status : Not Answered
Chosen Option : --

Q.8 I AAFEI Tl & AT § fHaq 7R & 3 A?
Ans X 1.2

X 26
X 3.5
& 4.3

Question ID : 264330105428
Status : Not Answered
Chosen Option : --

Q.9 IAPPe 3R A ISR F SR TS HEQ@YU! URMHP UG SMTIERIP 77 MY A1 TR-AEY
g &1 T 3 U1?

Ans 1. TR DI AURI
X 2. Heayul W
< 3. IR & B BT Al
X 4. 9% A1 SRS

Question ID : 264330105199
Status : Not Answered
Chosen Option : --

Q.10 TRaRT # Fafdas o wrw F34 & fore Frafafea & 3 5 wdia sma & sist wmar 82
Ans X 1 fiftE &

X 2. Fad =re srerf

3. WHR 3R BH F YA §EIeR0r

X 4. Sffaafed @y

Question ID : 264330105363
Status : Not Answered
Chosen Option : --




Q11 IJHETW RGP & e H TEl HY= F Uga= Fiforg|

Ans X 1. FTeH & T A M BT wRAT[sh & sta Thd oY gl 8, SRiqw e dedrd

gl

X 2. e $ 3 i R grggion Wit & ot fg a1 s sy 81 8, srigw afie

FEaAd g |

X 3. B & VR A b afferiior RATYSH & dta Tebel 814 Sie1 8, 3Riqw it

FHEAd 71

o 4. B1aT & U TG oM HTa RISt & st fgsmay ar ey gidr g, Sriga A

FEA B

Question ID : 26433086741
Status : Answered
Chosen Option : 4

Q.12 urey SR & T § Prafifed & § -9 e ad 78 22
Ans 1. UTCH FHIRIBTE TG fauTe gR favfrd 76t ) st

X 2. AR R, Gt urey Bifrepraif # gRdcas (FaRiaRe) giaT 31

7 3. TP UIeY SIS H IR W U% det Rfdas! gidl g1
X 4. UTCU BIRADT B 1T FIRT Jegas F s+ gl 81

Question ID : 26433071442
Status : Answered
Chosen Option : 1

Q.13 fFafafea d @ fra yRdg Tadsar I 3 w81 o1 % Qe a9t ggama afe st e g

H 3@ 9ed 82
Ans X 1. faftg g ua
o« 2. TETE et
X 3. Higrg 3reft forar
X 4. QY S

Question ID : 26433085295
Status : Not Answered
Chosen Option : --

Q14 TINTAF WY BaP__ ITe F A g8l
Ans X 1. T

o 2. TS

7 3. PlaogA

X 4. SgeH

Question ID : 264330105455
Status : Answered
Chosen Option : 2

Q.15 ﬁrﬁnﬂﬁmﬁmﬁvﬁm%aﬁﬁ o & weR 99

HUTS T 1 (CBG) W4T 1 Igure forar
Ans X' 1. TORId
o 2. USTd
X 3. WERTE
X 4. ISR

Question ID : 264330105253
Status : Answered
Chosen Option : 2




Q.16 fFafafad § & fras i 3 siawndia sifge fiaw & wu & #amar smar 872
Ans X 1.5 WG

P PACEISSISE RS

X 3. QUMY IE

o 4. TETE e

Question ID : 26433074083
Status : Answered
Chosen Option : 4

Q.17 goul & ¥ Sy (Ads IR1) 2T 2021 F1 BIgd Hd g1 UT?
Ans 1 13TH DI

X 2.55AH

X 3. 30 @S B

7 4,13 Jas &

Question ID : 26433070837
Status : Not Answered
Chosen Option : --

Q.18 The system based on individual leadership is a system.
Ans ” 1. presidential

< 2. semi-presidential

25 3. semi-parliamentary

< 4. parliamentary

Question ID : 26433064837
Status : Answered
Chosen Option : 1

Q.19 we-wife P YR 59 &1 dld T4 872
Ans X 1. 3fffgEm

X 2. Uiy &ma
2 3. |fgR
4. SBR

Question ID : 26433054319
Status : Answered
Chosen Option : 4

Q.20 FrfafEd # @ o19-8 7@ dee # wiva 76 82
Ans 1 Ry

X 2.9

X 3.3

X 4. 9ags

Question ID : 26433066513
Status : Answered
Chosen Option : 1




Q.21 2011 P} FIUAT F SFAR 7 § | {5 59 B A1eRa o2 qaiie 82
Ans 1 axd

X 2. ook

2 3. Tar

X 4. TEgy

Question ID : 264330105512
Status : Answered
Chosen Option : 1

Q.22 Tida P &l T TAXTD HRUPR BIH-A 872
Ans 2 1. GHMGI, WAl

X 2. W, FaR® MRy

2< 3. g, ]or

X 4. =, HaR® Ry

Question ID : 26433064827
Status : Answered
Chosen Option : 1

Q.23 fgfifaa # A fPam eaRrgia Tfta & o= aivem & 1T sifemv 3k Tiee+ e
TREBR ST 872

Ans  _p 1 T3RIGHH

X 2.3 TR

X 3. WIfehR g

X 4.4, SR

Question ID : 26433064784
Status : Answered
Chosen Option : 1

Q.24 e P, NG B 7 frw adf A §¥ <A
Ans 7 1.1707

X 2.1703

2 3.1701

X 4.1705

Question ID : 264330105545
Status : Answered
Chosen Option : 1

Q25 udd URm &1 gRIU | e FRd 7 1
Ans X 1. fRmmem

< 2. 3y

X 3. @S uda

o 4. d

Question ID : 264330105619
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude




Q1 TP I F1 3ifrd Twa 10,927 B 1 ERI & WA F HRYI, T Fifda ufowa & ge oifta
P ST 1 I TH qEG P} FH P TS P1AT W WEar § 3R I/ 210,927 W a1 §, 3R
11.5% T ATY HHTAT ¢ | o a1y [ foram wfomra &1 ge & g i

Ans 1. 10.3%
X 2. 10.9%

X3 11.3%

x4 11.5%

Question ID : 26433076178
Status : Answered
Chosen Option : 1

Q.2 36 3T 198 BT HEWH JHIIGA D (HCF) T B |
Ans X 1.36

X 2.22
& 3.18
X 4.9

Question ID : 26433075042
Status : Answered
Chosen Option : 3

Q.3 tan(8 -14m) = & fFad RTaR 82
Ans X 1. —tan®

X 2. cotB

« 3. tanB

X 4. —cotB

Question ID : 26433057163
Status : Answered
Chosen Option : 3

Q4
sin'd + cos’® F sinG & T H W YN for@m =1 T &

Ans - i .

" X1 25in™0 < 25in’0
X 2 25int0 + 2sin?6 — 1
X3 25in*0 —2sin?0 - 1

v 4 25in*B — 2sinB + L

Question ID : 26433075285
Status : Answered
Chosen Option : 4




A5 (6 ++/8) 3T (3-+2) F &7 AeAIET AT Hifew
Ans w.]m

X2 (6—+8)

X3 415 = 7

X 4. gm

Question ID : 26433064983
Status : Answered
Chosen Option : 1

Qe I x—y=13x2+y?=41% TE xy=08 O x+yHAFT &M
Ans X 1.8

& 2.9

X 3.7

X 4.6

Question ID : 26433074495
Status : Answered
Chosen Option : 2

Q7 g P TP cHS BT T IUP Io & q¥f &A1Y Gadl ¥6dT 2| Rs.6,084 TeT & TH §R
P13 P! A BIeT AIdT 8, NHST a9+ 3 : 2 : 1 F AJuTd & i1 811 Ble ¥ g aret gify
a IR

Ans X 1.Rs.3,768
« 2.Rs.3718
/< 3.Rs.3,518
/< 4.Rs.3,168

Question ID : 26433063473
Status : Answered
Chosen Option : 2

Q.8 fywr 3 ue FHfia gt a5 A 79 1 afe 98 40% gt 40 kmyh T AT/, 50% gt 25
km/h @ T8 ¥ 3R AT 10% 8 10 km/h B 1A F 99 ST 8, O T g8l 99 B A
I T I1e I FIQI

Ans X 1.30 km/h
25 2.26 km/h
/< 3.28 km/h
& 4.25km/h

Question ID : 26433074953
Status : Answered
Chosen Option : 4




QY prfefer mhard T Rl SO A T A F R A0 A 30 7 Roeh &
FETT F g Far g

ET Fr fafes Aot o a=h w2 fasEt

Ans

m
u HiE wse
W e

S & T A F IET ewws w1 ST 0 i

X 1. 25°
X2 48°
X 3. 46°
v 4 90°

Question ID : 26433090270
Status : Answered
Chosen Option : 4

Q10 oy a1 e 3 aifdeT @1 srcaaa ARET 3k BERRT wa & 39¢ AT

Ans

T 1998 FF ==t #r saEET ¥ geog R2ffes ==t F e

forw s1e Tt #r For STeTwEAr = 32760000

T T 3R FRRAT F IER FwEE I
BT HTETEr
ey | Afgen T fRar
HTUT=T 99T | 5 3 2 7
T Hgar 3 1 1 4
=t 2 3 2 1
airar 3 5 3 2
EGE 3 4 4 1
3 TS 3 2 7 2
g 3 4 9 4

afy I% 1998 F, o a¥ #r goaw F Far fr FAEEw F 20% IR
TS T FT FAREAT F 10% H F&TT g5 &, A a¥ 1997 & har IR

FTUTTST T T FAEEAT H Heard a1 °1?

X1 25:11
X2 4-5
X3 T7:11

o4 11:25

Question ID : 26433086280
Status : Answered
Chosen Option : 4




Q.
afEx+ 1= 2cos@garx®+ ig: 2
X X

x4 42

Ans X 1.2 cos 20
< 2. cos 20
«” 3.2 cos 36
X 4. cos 30
Question ID : 26433058938
Status : Answered
Chosen Option : 3
Q.12 1
M x+-_=-2 BT+ 17 +x12 412 wIAARIE? (x<0)
X
Ans X 1.1
& 2.0
X 3.1
X 4.2
Question ID : 264330105921
Status : Answered
Chosen Option : 2
Q.13
AXYZ ~ AGST 3R XY : GS = 2:3, XV, &= YZ #r #nfegs g, 3k
GD, &= ST & AfeTa §1 ()° 1 AT AT HST
Ans
x1 1
4
X2 2
5
3 4
9
- 2
4. st
3
Question ID : 26433091946
Status : Answered
Chosen Option : 3
Q.14 1
g x=312v2, x> 0%, FIT&—EEFFFIFTERIT??
Al
ns v g,
X2 242
xs3 1

Question ID : 26433075843
Status : Answered
Chosen Option : 1




Q.15 gfd A ABC~A FDE SH UPR & % AB = 9 cm, AC = 11 cm, DF = 16 cm 3iR DE = 12 cm, qt
BC &1 daTs J1d B3|

3
1. 61 cm

Ans
3
x 2 4§ cm

5
x 3. 3; cm

3
X 4 5; cm

Question ID : 26433080231
Status : Answered
Chosen Option : 1

Q.16 A 3R B Tw Ff¥a o1 31 6 42 A 3% APd ¢ 3R A, B 3R ¢ fras? =i o1d &1 =1
P | 4 92 BT THT A §1 3PA C B T R B F fam wag ahme

Ans X 1.27%¢
X244
& 3. 1279
X 466

Question ID : 26433076015
Status : Answered
Chosen Option : 3

Q.17 =t & 7 aIfreT 6 HUfIG) gRIIMEORER S IcuTe B oIl 21

FIAT | 3

300

270

260

240

220

250
FU G FRTIMpoIRe b IS BT HUL | gRT IpoReR F ITe I Ut FIT 82

Ans X 1.13:12

X 2.11:13

& 3.13:11

X 4.12:13

e el [ S e sl s

Question ID : 264330105737
Status : Answered
Chosen Option : 3




O Fg 792 I 48 ¥ RS R AT, & 9 AT A

Ans X 1.0
& 2.1
K 3.2
X 4.3

Question ID : 26433074449
Status : Answered
Chosen Option : 2

Q.19 gmﬁgﬂgscﬁ',ngacmnwﬁg%luﬁscaﬁﬁaﬁscm%,a‘rﬁaﬁaﬂ
Fas [
ANS X1 5.5cm

v2 4/3 em
X3 6V3cm
X4 4.5cm

Question ID : 26433079978
Status : Answered
Chosen Option : 2

Q.20 12 faar war 94 o Uw wafe gR1 7 fafira axg et wR fpw o oog ) qxifar 31 g @eft 7
TEG3HT BT A oY 3600 & | TP ARy avg W P ¢ oy &) 37wt 7 aegen wR frg g
Fa g ¥ deH ¥ fh & wu A gxfar mar 21

e P YT Q W o an i oag w82
Ans o 1.950

< 2.905
&< 3.875
/< 4.885

Status : Answered
Chosen Option : 1

Question ID : 264330105765




Q.21 ¢ A7, Brwar ara i gl B e A woxf Fed g @ T R 1 39§ g6l @ 9R) 3R T
YT HHDT ST AT | YT B TS 1 82

Ans  _» 136+ 12p 9.0
2 2.24 + 36p 9L
7 3.36 + 18p 9.1
2 4.36 +20p 9.1

Question ID : 264330105863
Status : Answered
Chosen Option : 1

Q.22 TH AR A 12:30p.m. W TP AP YRS 3N A 48km/h Bt T1e A TaTal 21 Afp=T 3 6
% ¢ TN BT UaT IadT ¢ | T3P ST WH 58km/h B ITA | O I15F TR IqHT HaT
PRI YRY B Sl 81 IR [pa I R usps forar s

Ans 7 1.3:24p.m.
& 2.3:54p.m.
< 3.3:10p.m.
< 4.3:40p.m.

Question ID : 26433091936
Status : Answered
Chosen Option : 1

Q.23 AT A 5 9 UG 16% BT WIYRUI TS &= WX T T TP U1 W TS & ¥ § 29,600 BT
yiar fasan| Ia= famn ot ferr a2

Ans  » 1. 12,000

X2 213,250
X3 212,500
X4 Z11,750

Question ID : 26433076329
Status : Answered
Chosen Option : 1

Q.24 31 Yo B FASATE 1 : 4 F SuIa A ¥ SR St FHars4i 4 : 3 & U ¥ &1 ITH
ST BT 3JUTd ghm|
Ans 7 1.1:12

X 21:9
< 3.3:10
X 4.2:9

Question ID : 26433063975
Status : Answered
Chosen Option : 1

Q.25 ST p, 150 & 15% 31 &1 °fS k, p A 15% HH &, it k g RaR 82
Ans X 1.136.324

% 2.116.328

& 3. 146.625

X 4.166.625

Question ID : 26433074981
Status : Answered
Chosen Option : 3




Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the underlined word.
Built by King Narasimhadeva | of the Eastern Ganga dynasty from 1238-1250 CE, the

13th century late-style Kalingan temple forms part of the golden triangle of Odisha,
along with Puri and Bhubaneswar, and attracts tourists, pilgrims, and history and art
lovers.

Ans X 1. Embodies
< 2. Shrouds

2< 3. Elucidates
«” 4. Deters

Question ID : 26433061572
Status : Answered
Chosen Option : 4

Q.2 Select the correct active form of the given sentence.
Why is peace being demanded by you?

Ans X 1. Why you demand peace?
«” 2. Why are you demanding peace?
/< 3. Why you are demanding peace?
< 4. Why are peace demanded?

Question ID : 264330104591
Status : Answered
Chosen Option : 2

Q.3 Select the correct passive form of the given sentence.
They fired her because she was careless.

Ans X 1. She had been fired by them because she was careless.
«” 2. She was fired by them because she was careless.
/< 3. She is fired by them because she was careless.

/< 4. She is being fired by them because she was careless.

Question ID : 264330104561
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.
He has experienced abuse.
Ans 7 1. physical
75 2. visible
/< 3. palpable
25 4. intangible

Question ID : 26433072045
Status : Answered
Chosen Option : 1




Q.5 Select the most appropriate option to fill in the blank.
Anita is an employee who has unconditional for her company.
Ans 7 1. love
75 2. dedication
/< 3. attachment

< 4. support

Question ID : 26433089032
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

Our school had decided to take us to the Himalayas for excursion. | to
convince my mother to give consent.

Ans X 1. brought home the bacon
o 2. left no stones unturned
< 3. fought fire with fire

< 4. made waves

Question ID : 26433070552
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Not only is my brother intelligent though hard working too.
Ans X 1. or hard working

< 2. so hard working
/< 3. yet hard working
«” 4. but hard working

Question ID : 26433081310
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate synonym of the underlined word in the given sentence.
Rahul was sharing some of his childhood stories and they were hysterical.
Ans X 1. Dangerous
& 2. Funny
/< 3. Scary
75 4. Emotional

Question ID : 26433060361
Status : Not Answered
Chosen Option : --




Q.9 Select the most appropriate synonym of the given word.
Obligatory

Ans X 1. Chosen

5 2. Unnecessary

o 3. Compulsory

< 4. Optional

Question ID : 26433071877
Status : Answered
Chosen Option : 3

Q.10 Identify the INCORRECTLY spelt word in the given sentence.

The rhime and rhythm of Papai’s poems are highly symbolical and timely.
Ans 7 1.Rhime

25 2. Symbolical

25 3. Timely

5 4. Rhythm

Question ID : 26433070562
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate ANTONYM of the underlined word.
The WHO issued a statement on Sunday morning that though the Omicron variant of
coronavirus may appear to be less severe, it should not be dismissed as ‘mild’.

Ans X 1. Withered

« 2. Gentle
/< 3. Voracious
< 4. Sick

Question ID : 26433061561
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate meaning of the underlined idiom in the given sentence.
Being an ardent professional, the lawyer always kept his clients at an arm’s length.
Ans X 1. Away from each other
< 2. Under wraps
< 3. Alert and prepared
«” 4. At a distance

Question ID : 26433071987
Status : Answered
Chosen Option : 4

Q.13 Select the INCORRECTLY spelt word.
Ans X 1. Attorney

& 2. Judege
#< 3. Justice
& 4. Lawyer

Question ID : 26433065137
Status : Answered
Chosen Option : 2




Q.14 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. You can use proper lighting, reduce screen glare, and take more breaks.
Q. However, one of the easiest habits to build is to follow the "20-20-20 rule”.
R. There are lots of ways you can protect your eyes during the day.
S. Every 20 minutes of time spent staring at a screen, look away at an option that is at
least 20 feet away for 20 seconds.

Ans X 1.QRSP
« 2.RPQS
/< 3.SPRQ
5 4.SQPR

Question ID : 264330104714
Status : Answered
Chosen Option : 2

Q.15 Select the option that contains a grammatical error in the underlined portion.

There are three cupholders placed on the cupboards of the secretariat table.
Ans X 1. There are three cupholders placed on the cupboards of the secretariat table.

/< 2. There are three cupholders placed on the cupboards of the secretariat table.

«” 3. There are three cupholders placed on the cupboards of the secretariat table.

< 4. There are three cupholders placed on the cupboards of the secretariat table.

Question ID : 26433088584
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Oscar is the most prestigious award which is introduced to good actors in that year.
Ans ” 1. awarded to best

/X 2. attached to fine
75 3. nominated to fine

< 4. rewarded to good

Question ID : 26433088511
Status : Answered
Chosen Option : 1

Q.17 Rearrange the parts of the sentence in correct order.
The spectacular
P. Indian economy, were largely based on coal
Q. expansion of electrification of the
R. the last 20 years, and the considerable
S. Chinese economic growth of

Ans X 1.SQRP
X 2. PRQS
< 3.QRPS
4. SRQP

Question ID : 264330104669
Status : Answered
Chosen Option : 4




Q.18 Select the sentence with the appropriate use of adverb of frequency.
Ans X 1.Radha goes to Nagpur to meet her uncle.

/< 2. Radha goes to Nagpur with great affection.
% 3. Radha goes to Nagpur for her office work.
o 4. Radha often goes to Nagpur.

Question ID : 26433073885
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
When | reached home late, | found my children waiting on me.

Ans X 1.waiting by me
«” 2. waiting for me
X 3. waiting with me
< 4. waiting about me

Question ID : 26433084627
Status : Answered
Chosen Option : 2

Q.20 Select the correct direct form of the given sentence.
The surgeon says that | should get anaesthesia for the surgery.

Ans X 1. The surgeon said, “You should get anaesthesia for the surgery.”
/< 2. The surgeon says, “You could get anaesthesia for the surgery.”
% 3. The surgeon says, “l should get anaesthesia for the surgery.”

«” 4. The surgeon says, “You should get anaesthesia for the surgery.”

Question ID : 264330104642
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Everything we know about non-avian dinosaurs is (1) fossils, which include bones,
teeth, footprints, tracks, eggs, and skin impressions. For centuries, people throughout the
world have (2) amazing fossilized bones and footprints. Early finds inspired
(3) and fairy tales, and people (4) that these bones belonged to
(5) or huge monsters.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans ” 1. based on
/< 2. held on
/5 3.givenin
< 4. taken after

Question ID : 26433079000
Status : Answered
Chosen Option : 1




Q.22
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Everything we know about non-avian dinosaurs is (1) fossils, which include bones,
teeth, footprints, tracks, eggs, and skin impressions. For centuries, people throughout the
world have (2) amazing fossilized bones and footprints. Early finds inspired

(3) and fairy tales, and people (4) that these bones belonged to
(5) or huge monsters.
SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.

< 1. designed
o 2. discovered
25 3. fabricated
X 4. invented

Question ID : 26433079001
Status : Answered
Chosen Option : 2

Q.23
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Everything we know about non-avian dinosaurs is (1) fossils, which include bones,
teeth, footprints, tracks, eggs, and skin impressions. For centuries, people throughout the
world have (2) amazing fossilized bones and footprints. Early finds inspired

(3) and fairy tales, and people (4) that these bones belonged to
(5) or huge monsters.
SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.

2< 1. honour
o 2. legends
X 3.fame

X 4. celebrities

Question ID : 26433079002
Status : Answered
Chosen Option : 3

Q.24
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Everything we know about non-avian dinosaurs is (1) fossils, which include bones,
teeth, footprints, tracks, eggs, and skin impressions. For centuries, people throughout the
world have (2) amazing fossilized bones and footprints. Early finds inspired

(3) and fairy tales, and people (4) that these bones belonged to
(5) or huge monsters.
SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.

< 1. aimed
< 2. arranged

< 3. opposed
« 4. imagined

Question ID : 26433079003
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Everything we know about non-avian dinosaurs is (1) fossils, which include bones,
teeth, footprints, tracks, eggs, and skin impressions. For centuries, people throughout the
world have (2) amazing fossilized bones and footprints. Early finds inspired

(3) and fairy tales, and people (4) that these bones belonged to
(5) or huge monsters.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

< 1. spirits
< 2. ghosts
« 3. giants
& 4. devils

Question ID : 26433079004
Status : Answered
Chosen Option : 3
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